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USING MICROSOFT EXCEL TO CALCULATE
RELATIVE GROWTH RATE IN POULTRY

Abstract:

The absolute increase in weight over a period of time is
attributed to the weight of the bird at the start of the period or to
the average weight of the bird at the start and end of the period
(relative growth rate). .The aim of this research is to use a
function in a Microsoft Excel spreadsheet to calculate the growth
rate percentage of poultry in one step instead of calculated it
manually. The method depends upon entering the following
function in the function bar of the Microsoft Excel spreadsheet
((=((B4-C4)/(0.5*(C4+B4))*100)) after we enter the values of
the second bodyweight in column B and the first bodyweight in
column C and enter the following function (=((B4-
C4)/(0.5*%(C4+B4))*100)) in the Cell E4 of an Excel worksheet,
the result of Relative Growth Rate will appear automatically in
Cell E4 in one step which will shorten the time needed for
calculation by more than 1/100Key words: Excel ,Function |,
Relative growth rate
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INTRODUCTION:

Genetic selection in broilers and laying hens  for several
decades leads to important changes in productive traits, during
embryonic period , or after chick hatching , especially growth
rate ,Buzala and Janicki,( 2016 ) , where the final body weight
of bird at marketing age ( 56 days) were 905, 1808, 4202 gm. in
1957, 1978, 2005 respectively ( Zuidhof et al ., 2014) .

Relative growth rate usually calculates by the equation of
Broody 1945, which is: RGR=

{ (W2-W1)/0.5(W1+W1) }x 100 ( Karousa ., 2012)

Where

W?2 : The second body weight

W1: The first body weight

MATERIALS AND METHODS
The relative growth rate of poultry usually calculated by
the equation of Broody 1945 as follows:

RGR={—"1_1 %100

0.5(W1+W2)
Because of the difficulty of calculating this equation manually
we aimed to make use of Microsoft Excel functions to calculate
this equation by one step as follows:

Open an Excel worksheet

Enter the values of the second weight in column B starting with
cell B4

Enter the values of the first weight in column C starting with

cell C4

Enter the following function in the Cell E4 in column E
=((B4-C4)/(0.5*(C4+B4))*100)

Then the result of relative growth rate will appear automatically
in Cell E4 and by drag and drop in the corner of the cell we can
calculate as many values in one step were the results appear in
the column E .
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By using these function we can calculate large values of relative
growth rate in one step and shortens the time needed to calculate
it manually (Figure 1) .
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BW2 BWI1 rate
2500 500 150 00
3250 190 117 59
2000 180 144 82
2750 170 111 G|
2500 160 137 84
2250 150 133 33
2000 110 127 87
1750 130 121 10
1500 120 11250
1250 110 10120
1000 100 8571
750 290 62 16

Figure (1) Calculating relative growth rate by Microsoft Excel

RGR= {

0.5(W1+W2)

RESULTS AND DISCUSSION
Relative growth rate (RGR) calculated manually by the equation

w2-w1i

¥

x 100

To calculate the first value

in row 4

W2-W1= 3500-500= 3000
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0.5(W1+W2) =0.5( 3500+500) = 0.5( 4000) = 2000

RGR = 3000/ 2000= 1.5 *100 = 150 %

In row 15

Also when W1 =390 and W2= 750 then

750- 390 = 360

750+390 = 1140

1140*0.5 =570

Then RGR = 360/ 570 = 0.63157

0.6315* 100 = 63.16 As appear in Cell E15

So if we need 2-3 minutes to calculate each value of relative
growth rate manually we can calculate it by this function in one
second which represent less than 1% of time needed for manual
calculation .
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